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- THEERT RAT M RESS RITHN
B RATXH R RATHHE RITHE RATAE RITHE
e/ (B (Tu/fo) (B
1 bl g~ 15.79 4,375,932 8.69 7,951,204
2 JE S 15.79 4,372,240 8.69 7,944,496
3 AR 15.79 1,392,366 8.69 2,529,972
==g V=N 7
4 I;; ?‘%gzgigﬁ ,;fﬁ} %ﬁ i 15.79 706,071 8.69 1,282,954
5 Lt 15.79 1,165,579 8.69 2,117,893
6 TR 15.79 524,510 8.69 953,052
7 TN B FE LT CHRA1O 15.79 191,648 8.69 348,230
8 HR Al 15.79 291,394 8.69 529,473
9 Wi e 15.79 96,064 8.69 174,551
10 RPH AR A PR A A 15.79 72,048 8.69 130,913
11 e 15.79 67,244 8.69 122,186
12 R 15.79 104,902 8.69 190,610
13 TR 15.79 48,032 8.69 87,275
14 TR 15.79 48,032 8.69 87,275
15 AT —SEAL (FRE 15.79 48,032 8.69 87,275
£
16 i 15.79 58,278 8.69 105,894
17 [ 15.79 46,623 8.69 84,715
18 TEF AT 15.79 18,732 8.69 34,037
19 VP AIT:Y 15.79 34,967 8.69 63,536
20 B 15.79 34,967 8.69 63,536
21 gk 15.79 34,967 8.69 63,536
22 X B4 15.79 34,967 8.69 63,536
23 AL 15.79 34,967 8.69 63,536
24 JERIAT] 15.79 34,967 8.69 63,536
25 [ 15.79 34,967 8.69 63,536
26 e 15.79 34,967 8.69 63,536
27 ] PR 15.79 34,967 8.69 63,536
28 TpeiE K 15.79 29,139 8.69 52,947
29 A 15.79 29,139 8.69 52,947
30 =y 15.79 12,488 8.69 22,691
31 [ EECS 15.79 23,311 8.69 42,357
32 51 15.79 17,483 8.69 31,768
33 J7 7N 15.79 17,483 8.69 31,768
&t - 14,071,473 - 25,568,307
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